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1. Qi faum @

3 H15

(a) WUR =FhEE A 2019 T8 3 TEE TR 9.
(b) IR ThEEeSH ST S0 R AT T F

watf 3w :

(1) e (a) TR =M
(8) faum (a) awfr (b) TR ameq -

(2) faum (b) TR a2
(4) U™ (a) M0 (b) TR T

Observe the following statements :
(a) Sagar cyclonic storm originated in May 2019 in Arablan Sea. .
(b) Sagar cyclonic storm disrupted properties on South Konksan coast.

Answer options :

(1) Statement (a) is correct
(8) Statements (a) and (b) are correct (4)

(2) Statement (b) is correct
Statements (a) and (b) are incorrect

2. Wmﬁmﬁw@ﬁmgﬂ TTYT ATHITSTOY =41 WIS

TN g1 .
(1) W (SieEma)
(8) FWTE ()
Research was done at

™

(2) wraEE (Tenfd)
(4 A e
with reference to the Middle Age and Copper Age

in terms of human settlement in Maharashtra.

(1) Patne (Jalgaon)
(3) Inamgaon (Pune)

(2) Hatkhamba (Ratnagiri)
(4) All of the above

3. & T

w/e= Toreriadra St
(a) WHA @H «=m
(b) wex Wi (i)
() sz (iii) fore
(d) sERRmn Gv) 9
it IW

(a) (b) (c) (d)
1 @ (i3) (iii) @{v)
(2) (@v) (iii) (ii) i)
3 (iv) (iii) (ii)
4) (v} (ii) (iii) (i)
Match the following :

Country/Area Shifting Agriculture
(a) India (i) Ladang
(b) Central America (ii) Roca
(¢) Brazil (iii) Milpa
(d) Indonesia (iv) Jhum
Answer options :

(a) (b) (c) (d)
1) @ (ii) (iil) @iv)
(2) Gv) (iii) (ii) (i)
3y ). (iv) (iii) (ii)
4) @Gv) (ii) (iii) (i)

PO SIS AR / SPACE FOR ROUGH WORK

P.T.O.



The father of Human Geography is

(1) Herodotus
(3) Vidal-de-la-Blache

H15 4
4. Gﬁww:
ww 1 wa I
(a) %f¥%s g () =g
(b) faga yeh fagia Gi) = ¥f
(c) i fgia (iii) oTeFERA
(d) eanr fugm@ (iv) eeered
it IW '
@ . O® (c) (d)
(1) (i) (iii) i) (iv)
(2) (i) (iv} (ii) (i)
(3 (v (ii) (iii) (1)
4 W (iv) (i) (iii)
Match the following :
Column I Column II
(a) Cepheid Theory (i) Laplace
(b) Electromagnetic Theory (ii) Dr. Banerji
(c) Nebular Theory (i1i) Alfven
(d) Binary Theory (iv) Lyttleton
Answer options :
(a) (b) (c) (d)
(1) (i) (iii) (i) (iv)
(2) (i) (iv) (i) 1)
3) (w (ii) (iii) (i)
4) @ (iv) (ii) (iii)
5. oM Yo S 3TEd.
(1) ¥ieie™ (2) FHREH
(3) faea-di-an-=am 4 g4

(2) Hecataeus
{(4) Brunhes

THEELT HIHTAIST ST / SPACE FOR ROUGH WORK
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A 5 H15
=N A
TS SR TEEHT
(a) orgadl () WY T8 TER B aTE A
(b) Weagadt G Yo AW Pefm e
(c) vl (iii) WEHrea TN g aEw
d) THE va® | (iv) VaTere ATaTaET ShEdel SRt
it I ‘

(a) (b) (e) (d)
(1) Gv) (ii) (iii) @)

(2) ) (iii) (i) (iv) )
3) @) (i) (ii) (iii)
(4) Gi) (iii) (iv) (i)
Match the following :
Types of Stream Explanation
(a) Consequent (i) Stream develops valley across outcrop
(b) Obsequent (ii) Flow controlled by original slope
(¢) Subsequent (iii) Flowing opposite to the dip of rock
(d) Braided (iv) Maze of interconnected channels
Answer Options:

(a) (b) (c) (d)
(1 Gv) (ii) i) - @
2 G (ii2) 4} (iv)
3 () (i) (ii) (ii1)
(4) (@b (iii) (iv) (1)

9. mﬁhaﬁmﬁqm:
(a) Fom & iy = suadt orgm anfr ft Ior AT T
(b) waw & Ry @ SR s .

gt IW ;
(1) % faue (a) T s (2) wad 99T (b) TR R
(3) faum (a) anfdr (b) =T 3T (4) s (a) anftr (b) S T

Observe the following statements :

(a) Jhelum is a tributary of River Indus and flows through Lake Wular.

(b) Sutlej is a southern tributary of River Indus.

Answer Options:

(1) Only statement (a) is correct (2) Only statement (b) is correct

(3) Statements (a) and (b) are correct (4) Statements (a) and (b) are incorrect

VLT BETATS! SN / SPACE FOR ROUGH WORK o o P.T.O.
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8. Grefia faum ve
(a) YU 9 Fhel T FARTIH (B@ S efiveg Shm weomar.
(b) ETHATHE YSNEE HIST 2t 9rEd.
(¢) Tt 9 g T8 GiETAE YAt i wfdeT S T e,

U’ﬂ‘f’d’h‘!ﬁ:
(1) frum (a) onfir (b) a=K oM (2) fgm (b) 1M1 (¢) Fraz anRa
(3) faum (a) anfir () *0=r omrga (4) oler vd fam e omRa

Observe the foilowing statements :
(a) Mountain located between Pravara and Kukadi river is Harishchandra
. mountain.
(b) River Manjira flows on Balaghat Plateau.
(¢) Satmala and Ajantha mountain ranges are between Tapi and Godavari river
valleys. @
Answer Options :
(1) Statements (a) and (b) are correct (2) Statements (b) and (c) are correct
(3) Statements (a) and (c¢) are correct  (4) All the above statements are correct

9, WA Seoai=a1 FhT<AT JhY ST dET ;

(a) UHTA weAT (D) S YT BHIER O TR SIS et
(b) WA AT (i) U Y GEIT AT ITEIA!
(c) wfafea e (i) T YT Hg T gHA wwad
(d) wivafers gea (iv) 27 Y T T YYEEE GHIR
it IW
(a) (b) (c) (d)
(1 G (i) Gi) @)
2 (i) (iif) @) (iv)
(3) (ii) (i) (iv) (i) Qo

4 @ @iv) (i) (ii1)
Match the following for types of folds :

{a) Monoclinal fold (i) Both limbs parallel but inclined to one side

(b) Isoclinal fold (ii) One limb turned over the other limb

(¢) Recumbent fold (iii) One limb inclined and the other perpendicular
{(d) Overturned fold (iv) Both limbs parallel to each other and the ground
Answer Options :

(a) (b) (c) (d)
(1 (v) (ii) (iii) (i)
2 Gi) i) @) (iv)
3) Gid 69 (iv) (i)
4 @ (iv) (i1) (ii)
T FTHATS! SR / SPACE FOR ROUGH WORK
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10.

7 H15

TRt Hiud frem s A st o1ed ?

(a) WiSSgar T3 THIOTR JHATS Dl Tell 5w B,

(b) W vgT fwrEdt Svgw k.

(c) TSR UgITa JrEasq HUM dieh TYUTE UM O 37784

it I : 4

(1) faum (a) sufn (b) (2) faam ) 3uf% ()

3) faum (a) anf¥r (c) @) faum (a), (b) 3 (o)
‘Which of the following statements are correct about Bhabhar Plains ?
(a) The porosity is very high and hence small rivers disappear.

(b) The Bhabhar tract is suitable for crops. :
(¢) The inhabitants of the Bhabhar Plains are cattle-keeping Gujjars.
Answer Options: '

(1) Statements (a) and (b) (2) Statements (b) and (c)
(3) Statements (a) and (c) (4) Statements (a), (b) and (c)

11.

RS IcfieenTdie faem et -
(a) TEYE & g i when .
(b) T, Sreris 1 wfee wws @ g wfEh qv €.

(c) orfefes o Raams e angs g anea.
it I .

(1) foam (b) 3nfor (c) T aT1Ea

(2). faum (a) anftr (b) TR 3Ma

(3) faum (a), (b) 3TN () TR 2118

(4) faum (a), (b) =01 (c) T T

Observe the statements regarding agriculture in Maharashtra :
(a) Soil erosion is not a serious problem of agriculture.

(b) Soil erosion takes place due to flooding in rivers, forest cutting and
uncontrolled grazing.

(c) Soils are saline due to over-irrigation.
Answer Options:

(1) Statements (b) and (c) are correct

(2) Statements (a) and (b) are correct

(3) Statements (a), (b) and (c) are correct

(4) Statements (a), (b) and (¢) are not correct

Foeg] UG SN / SPACE FOR ROUGH WORK © - s T PT.OC
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12,  UEE Hao/siess ) TG d@wifea s
(1) weadl WeT, a9 3 AT SR Wi
(2) weHFdl WY, TR A S gEw-yataRefy vm
(3) TR B, THHAY WNT M YRR WA
(4) weHSdl T, WHAT HIT ST YEW-gHTeTig q
Biosphere reserves are demarcated into
(1) Core zone, buffer zone and transition zone
(2) Core zone, buffer zone and micro ecological zone
(3) Buffer zone, transition zone and micro ecological zone
(4) Core zone, transition zone and micro ecological zone

18, T/ WS W
UL/ T L]

(a) &l wtor G) wEd O TH-FER
(b) g AT Gi)  wriwey (ID) e
(¢) Thaegg wo (iii) oS (IID) SEE
(d) TN gAY EPR FET (iv) FA= (IV) ®ATH
Tt 39y : :
(1) (o) (i} (Iv

(2) (a) (iv) (D
3 @ (ii) (III)
4 (b (iii) (In

Find the correct pair :

Dams/Projects Rivers States
(a) Tehri Dam (i) Kaveri (I) Jammu & Kashmir
(b} Dulhasti Project (i1) Bhagirathi (II) Rajasthan
{¢) Shivasamudra Dam (iii) Chambal (ITI) Uttarakhand
(d) Rana Pratap Sagar Project (iv) Chenab (IV) Karnataka
Answer options :
1) (e (i) (Iv)
(2) (a) (iv) (D
3 (@ (ii) (IIL)

4) (b) (iii) (ID

eE] BTARITS! AT / SPACE FOR ROUGH WORK



14, ST AEN

(a)
(b)
(c)
(d)

wa

FHITHR TSR
SaTEE TR
AIATHR B
firfiarg, wew

Tt 39 :

6
@)
3)
@

(a) (b) (c)

@) (iii) (iv)
(ii). (iv) (iii)
(iii) @ (i)

(iv) (ii) )

Match the following :

(a)
()
(¢}
(d)

Column I
Dome-shaped Plateau
Volcanic Plateau
Step-like Plateau
Piedmont Plateau

Answer Options:

(1)
(2)
(3)
(4)

@ ®» ©
@ GG
(ii) (iv) (ii)

G @ )
v G ()

(@)
(if)
(i)

(iv)

(d)
(ii)
(i)

(iv)

(iii)

(d)
(i1)
(i)
(iv)
(iii)

9 ' H15

we I

TEE TR

o wBr

fartn wer

Column I1
(i) Deccan Plateau
(ii) Vindhya Plateau
(i1i) Chota Nagpur Plateau
(iv) Shillong Plateau

O] BRI SIFN / SPACE FOR ROUGH WORK — ~ - : fe : - P.T.0.
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15.

10 A
wrehter frer i w0 s A v e |
AT (4) : gerem TREETR Yol YergeTR s ¥ - s
A (B) : vt s fedt gt st yvEe ggdia anat Shar v,
gt IW ;
(1) fa (A) st (B) 3w sma
(2) faum (A) R 3rgF @ (B) 9% o
(3) fagm (A) 5= 157 faum (B) SR ang

(@) fRur (A) onfr (B) - I omiga

Examine the following statements and select the proper options :

Statement (A) : Every longitude has a different local time due to the rotation of the
Earth.

Statement (B) : Standard time éystem is utilized to remove the difference in the local
time.

Answer Options :

(1) Statements (A) and (B) both are correct

(2) Statement (A) is correct but statement (B) is wrong
(3) Statement (A) is wrong but statement (B) is correct
(4) Statements (A) and (B) both are wrong

16.

T Giehetd Fomn wie-wfz win Jaffruden s R sEear= Gewid i e
g ? '

(1) oy wra (2) TEETR YR

(3) IR wWRE (4) ufrm uE

In India, which of the following has become a hot-spot with reference to threats to
biodiversity ?

(1) Northwestern India {(2) Deccan Plateau

(3} Northeastern India (4) Western India

FYEIT TTATS! ST / SPACE FOR ROUGH WORK
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17.

11 H15

Frefie$l yares Tt e St ?

(a) ® geahe walm o= wofle W IR,

(b) & 27t ITEE (Biomass) ITNGH R4,

() & T 7 wofier shvia fafean o

@ & TwrERhe IR RS IR,

Fherdsh! wivr ferem/faams stex améa 2

(1) % (a) 2010 (b) (2) w4 (a), (b) 30T (d)
(3) % (c) : (4) 0= wd

Which of the following are characteristics of Coral Reefs ?
(a) These are the oldest living communities on Earth.
(b) 1Itis a high biomass producér.

(c) Itisarich floral and fauna diversity.

(d) These are shallow water tropical ecosystems.

-Which of the above statement/s is/are correct ?

(1) Only (a) and (b) ' (2) Only (a), (b) and (d)
(3) Only(c) (4) All of the above

18’

Frewl, e 9 o fafdvar (Alpha, Beta and Gamma) W& $1 ?
(a) weftar sfiuet

(b) e fafen gt

() Saffer sirwar sl

(d) e (Whittaker) (1972) I gafaeia wisgrd

Fhedh FvR faum/fae ste 2 mRa ?
(1) %&d (a) 3T (b) (2) % (h)
(8) %= (0 (4) T (c) 3T (d) -

What is Alpha, Beta and Gamma Diversity ?

(a) Richness of species

(b) Simpson’s Diversity Index ‘

(c) For measuring biodiversity over geographical scale

(d) Whittaker (1972) suggested these terms

Which of the statements given above is/are correct ?

(1) Only(a) and (b) (2) Only(b)

(3) Only(c) (4) Only (c) and (d)

T FHTHEIS! ST / SPACE FOR ROUGH WORK . P.T.O.
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19. e geaa

g : AR

(a) oY WW ‘ G waEH

(b) wEW (ii) WEH HEER

(c) ufeam s Gii) gfeea |

(d) e (iv) SN

i I
(a) (b) (©) (d)

1 Gv) (iii) (i) (ii)

20 o (ii) (iii) @iv)

(3) (i) i) (iv) (i)

(4 Gid) (i) (i) = (@)

Match the following : o : 9
State Name of Sanctuaries

(a) Andhra Pradesh (i) Radhanagari

(b) Maharashtra (ii) Bhagwan Mahavir

{(c) West Bengal (iii) Pulicat

d) Goa (iv) Jaldapara

Answer Options :

(a) (b) (o (d)
1 (v (iii) 1 (ii)
2 (ii) (iii) (iv)
(3) (i) (i) (iv) (ii)
(4) (i) (i) (1) (iv)
20. TERME YU WieAtsh! FIoT yeHET quET Ba ?
(a) AN T "I
(b) & T Hrdl _
(c) wEaH § I
(d) W fF 9 Sages
Tt FR Fam/fue st ama ?
(1) & (a) AT (b) (2) wEd (b)
(8) e (c) AT (d) (4) Iy I
Which of the following factors are included in chemical enwronment ?
(a) Temperature and soil
(b) Water and soil
(¢) Vegetation and water :
(d) Human functions and Biological components
Which of the statements given above is/are correct ?
(1) Only (a) and (b) (2) Only(b)
(83) Only(c)and (d) (4) None of the above

FEIT PTHRITS! ST { SPACE FOR ROUGH WORK
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21, WA YEEEd JET Il Yehie Ueed MR G S 9N I9gE 3%
o,
(a) el IedTe T
(b) FEfm mem gRw
(c) TTEGHISR W
(d) FTvEd g wean gl
afierteh! Horar T SR oM/ ?
(1) %= (a) 301 (b) (2) = (b) 3T (c)
(3) = (c) e (d) (4) ha ud
Given the importance of supply side factors in determination of inflation in India,
following long-term policies are likely to help.
(a) Changing production patterns
(b) Calibrated import policy
(¢) Focus on transportation
(d) Storage infrastructure for perishable commodities
Which of the above options is/are correct ?
(1) Only (a) and (b) : (2) Only (b) and (c)
(3) Only (c) and (d) (4) All of the above
22.  Saqren sifas TuEar Fwies (PQLI) WSaHT Sivar uesh feamne Saer s gt 2
- (1) InfeE SRl | (2) TR Ie=
(3 TEaqY ' (4) HIERE
Which factor is not considered while calculating Physical Quality of Life Index
(PQLI) ? ‘
(1) Life expectancy (2) Per capita income
(3) Infant mortality (4) Literacy
23. ww AigE g faweft (TPG) wrefiedsh #ivi faus 9= 3m ? (TPG — Total Poverty Gap)

(1) <REEEERIT SEHR & {1 F AVIEE AGRIF AU TR ST A9
TPG #Q.

(2) freas qifigg Tw el S 30T AR, SAWEl 6% WS TPG BN,

(3) S IATGH HeHTeN ST TR US1T IeqaTdiel a1ed™ A TPG &,

(4) @R e Ieqe fawEaea A dee W TPG .

Which of the following statements are correct about the Total Poverty Gap (TPG) ?

(1) TPG measures the total amount of income necessary to raise everyone below
poverty line up to that line.

(2) TPG is the number of those whose incomes fall below absolute poverty line.

(8) TPG measures the share of total national income that each factor of production
receives.

(4) TPG measures the relative degree of income inequality in a country.

FEYT HITAIGT SN / SPACE FOR ROUGH WORK ‘ P.T.O.
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14 A
qigE™ w2 i Iusiifae Weagd 9 YR WEHR aUst 6w u fowm wRiEAem
WTEiAdeh! BV HEHHAT Uews foet Mg ?

(a) WaiGTd TIHH U AT TElwio

(b) wEUSHE AR SAAEAT AT JURIT (2013 — 2017)

(c) EmEA & T IuSfean Treae (GOALS) (2013 — 2017)

(d) omfeandt faum Wy aman awwd (2013 — 2017)

afdt Im :

(1) % (a) @) @), )M () (3) b), (@AM ) (@) Fharh wd
Which of the following programmes have been supported by United Nations
Development Programme (UNDP) along with Government of India for poverty
reduction and livelihoods promotion ?

(a) Affordable Rural Housing for All

(b) Improving Efficiency of Health Care System in Multiple States (2013 - 2017) .
(c) Governance and Accelerated Livelihoods Support (GOALS) (2013 — 2017)

(d) Strengthening National Capacities in Tribal Areas (2013 — 2017)

Answer Options: ‘ '

(1) Only(a) (2) (a), (b)and (c) (3) (b), (c) and (d) (4) All of the above

26.

TENISg, AEH _ T FEITET FePTHIE STUTRE Srahed Ugd &R

(1) 2011 (2) 2015 (3) 2013 : (4> 2019
Government of Maharashtra has adopted gender budgeting from the year _ .
(1) 2011 (2) 2015 (3) 2013 (4) 2019

26.

2011 TS} GIeAlerieh! VAT T FTeT ToRT U Taid HHt &id 7 -

(1) i (2) WewS; 3) =@ 4) 7o oW

Which of the following States had the lowest child sex ratio in 2011 ?

(1) Karnataka (2) Maharashtra (3) Kerala {(4) Madhya Pradesh

27.

M ¥¥9=n Ta, WD TEiEnea @dietdl wivan meerea e uwwr s
HASHE A ?

(a) WUE ©HF YIE

(b) Wﬁﬁgﬁal

(¢) WHaR HEm I A=

(d) ST WrelEd AT GG e g

ﬂ'ﬂ'hﬂ"ﬁl:h ’
(1) e (a) 307 (b) (2) (a), (c) 3T (d)
3 =laud (4) I FHiUETE TAE

Which of the following, according to the World Bank, are critical issues to be
addressed in India’s urbanisation ?

(a) Poor local governance

(b) Weak finances _ '

{c) Inappropriate planning leading to high costs

(d) Rapidly deteriorating environment

Answer options:

(1) Only (a) and (b) (2) (a),(c)and{(d)

(3) All of the above (4) None of the above

FFee] HHETATS! SR / SPACE FOR ROUGH WORK
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28.

15 H15

Erefiateh! Hivrd faem/A amvma s R (GID) @v] §@ ?

(@) 3, G T oW SRR 33 Ardie e wnrd Seaar GII g 3.
(b) GIIS I qoa TeaTa fermiTa Sremmas et Sxiad. .

(¢) WoIF FrmTeen fiemicar Gad Srm=n arer B SR s AT .
Tt I

(1) %= (a) AT (b) (2) %= (b)

(8) wlwdht Hiorad T (4) olieth ud

Which of the following is/are applicable to Gender Inequality Index (GII) ?

(a) It provides insights into gender disparities in health, empowerment and the
labour market.

(b} Higher values in the GII indicate worse achievements.

(¢} The empowerment dimension is partly measured by the share of parliamentary
seats held by each gender.

Answer Options:

(1) Only (a) and (b) : (2) Only(b)

(3) None of the above (4) All of the above

29.

wfRreft = SAiaeTe S sonefifaet Ereftaddt Hor/d fum/A weg e 2

(a) # worel 1 Tl 2018 & rfemm e,

(b) T ITETH T HEWH ATEEN & el gE Fe . |

(c) %m@mmmammwﬁm@mm
gl IW ;

(1) %% (a) M (b) (2) % (b) 3T (¢)
(3) e (a) 30T (c) (4) Tl o

Which of the following statement/s is/are applicable td the web based utility —
BhoomiRashi ?

(a) It was launched on 1%t April, 2018.
(b) It has been launched by the Ministry of Road Transport and Highways.

{(c) It has been introduced to fully digitize and automate the entire process of land

acquisition.
Answer Options :
(1) Only (a) and (b) (2) Only (b) and (c)
(3) Only(a)and (c) (4) All of the above

FOT HHITS! STRIT / SPACE FOR ROUGH WORK P.T.O.
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16 A
Rio+20 €5t T% Fier e aiwefamft eiiedsh FvR/d RumA oy om ?
(1) S 2014 723 # IR FEeT TR v,
(2) 1 9fteda SFTENR gees [ S nisvEa AT,
(3) wfa sdcaaeen gunfawi=f arieeis o @1 aftweq whenwam sefl.
(4) = faea HY TS T FEFATE T4 AfFR HTGH e A,

Which of the following statements is/are correct about UN Conference on
Sustainable Development Rio+20 ?

(1) The conference was held in June 2014 in Brazil.

(2) The conference laid out Millennium Development Goals for the world.

(3) The conference adopted guidelines on green economy policies.

(4) The member nations de-powered UN Environment Programme in this
conference. :

31.

Hifd @ fwEw fawm e Pdws smammm (2020 - 21), wRah fesefEE
wHiR o gHfam 6,

(a) wrarn fEw® 2020 - 21 W 66 wa guwen MR, T 2019 - 20 WA 60 W
2018 — 19 WeY 57 B

(b) 2020 — 21 WEI HA HHe JEAATE HRarE s 15 ¥h 8 fewewa ww ufeeh
1.

Tl R/ =T I ame/d ?
1w (a) (@) & (b
(3) < g : (4) TR @i T

Goal-wise performance of India by NITI Aayog SDG India Index Report (2020 - 21)
reveals that

(a) India’s overall score improved to 66 in 2020 — 21 from 60 in 2019 ~ 20 and 57 in

2018 -19.

(b) Despite 2020 ~ 21 being a pandemic year, India performed well on eight of the
15 SDGs.

Which of the above options is/are correct ?

(1) Only(a) (2) Only (b)

(3) Both the options (4) None of the options

el HIHTATE! SR / SPACE FOR ROUGH WORK
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mﬁﬁmzﬁeﬁ(mes)mwﬁwmwmhwﬁﬂaﬁﬁaﬁw%mmﬁﬁm
3R/ ?
(a) mﬁaﬁmmmﬁmmw%ﬁﬁaﬁ

(b) 2015waﬁqﬁwwﬂﬁ%ﬁaﬁéﬂmﬁﬁi@qwmm%m
.

(c) Wit aEsfieo ¥ ST HEE AEH HAR.
T I

(1) %= (b) 20N (c)

(@ whawd

(8) W (a) 0N (b)

(4) % (a) AN (c)

Which of the following statements is/are true about Millennium Development Goals
(MDGs) achievements in India ?

(a) India has achieved the poverty reduction in an even manner.

(b) India was on-track to achieve the hunger target after the 2015 deadline.
(c) Empowering women remains a major development challenge.

Answer Options: '

(1) Only (b) and (c)

(2) All of the above

(3) Only(a)and (b}

(4) Only(a) and (c)

33.

mmmmmmmmmg@mm
HEHIHY A T

(1) & =i Fg aem
(2) WYUR AT
(3) ufgen g
(4) fefem wma

Name the online platform launched by the Ministry of Women and Child

Development to support women entrepreneurs.

(1) One Stop Centre Scheme
(2) SWADHAR Scheme

(3) Mahila E-Haat

(4) Digital India

Foeq] PWTAIS! ST / SPACE FOR ROUGHWORK o PTO.
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34.

18 A
A g sl S (NCST) Wrefierent Hivd! faum ster sma ?
(a) & U HeeTS HEAT R St 2004 ALY e aef R,
(b) aﬁammmmmﬁmﬁﬁﬁﬁamﬁﬁmawﬂaﬁmm 3
AT FE IR,
(c) onieaTe THISTST WERAT & GUIOATATS! 81 3TN HIH FTa),
@ oA AR S ge A, ¥ s wE o,
Tt 3 ;
(1) % (a) (2) e (a) AT (b)
(8) W (a), (b) 311 (¢) (4) bt v
Which of the following statements is/are correct about National Commission for
Scheduled Tribes [NCST] ? e
(a) Itis a constitutional body which came into existence in 2004.
(b) Its function is to inquire into specific complaints with respect to the deprivation
of rights and safeguards of Scheduled Tribes.
(¢) It works to improve literacy rate of Tribal community.
(d) Its function is to facilitate women empowerment of Tribal women.
Answer Options :
(1) Only (a) (2) Only (a) and (b)
(3) Only (a), (b) and (c) (4) All of the above

35.

WIATARH! e WHadt LT, & 2007 U7 W=EEdt 87 TS Ru=a SEed Jar ?

(a) Mgl g el T (b) HETTIRTHIRG HEAT

(c) YW HEAT (d) uuds g .
T I : . b
(1) % (c) (2) wed (a) 307 (b)

(3) W (a), (b) 30 (c) 4) =l wd

National Policy on Voluntary Sector (2007) covers which of the following voluntary
organizations ?

{a) Formal and Informal Groups (b) Community-based organizations
(¢) Charitable organizations (d) Support organizations

Answer Options :

(1) Only (¢) (2) Only (a) and (b)

(3) Only (a), (b) and (c) (4) All of the above

FeedT HHNTS! AT / SPACE FOR ROUGH WORK

[P TP SR



A 19 H15
36. @l Horh vzt geeft anfor ng A i A S ?
(1) Fetam ggd (2) e e ame
3) g & g - @) T ug
Which of the following methods is used for measurement of distance between Earth
and planets ?
(1) Parallax method . (2) Direct distance measurement
(3) Slope tapping method : (4) Echo method
87. 110 3020 Uy el STHUTAT 39 Jdmed 33 V e wgw & mm@w
forgmamn T, 500 sER Ty Wmmﬂ%ammmmzh
A e e wge Fud ana ?
(1) 726V 7 (2) 455V
(3 1500V : : 4) 150V
When a potential difference of 33 V is applied to a device whose resistance’is 110 Q,
some current flows through it. If the same current is to be passed through a device
whose resistance is 500 QQ, then how much potential difference is to be applied ?
1) 726V (2) 455V
(3) 1500V ' (4 150V
38. wreleH Aufis JEFM TE PR AR ?
(1) R () @ fochel
(3) w= (fmp) (4) RN (FegOy)
- Which one of the following is a natural magnet ? ’
(1) Copper (2) Silicon
(3) Zinc (4) Lodestone (FegOy)
39. HHR (WS YERFA A0f) T3 AT A I,
(1) =g i
(2) FeAT FewTSAl Rde oTerE
(3) VATt e

(4) vHEEERE geeie TR T N Rt arguamnd

SONAR (Sound Navigational Ranging) technique is used for

(1) Prenatal examination

(2) the study of heart valve action

(3) Geological study -

{4) measuring motion and position of the submerged objects like submarines

e

FFee] BETUIS! SN / SPACE FOR ROUGH WORK - - : P.T.O.



H15 20 A
40. WH @& TUNE GRERAT 1000 TH T FOEET 0-25 M AR, ;W & v Al wremm
5 U6 YT A I, T FAA A HIGT.
(1) 50 km (2) 1250 m
(3) 800m (4 80km
Calculate the distance travelled by a sound wave having frequency 1000 Hz and
wavelength 0-25 m, if it travels for 5 seconds in a certain medium.
(1) 50 km (2) 1250 m
{3) 800m (4) 80km
41, T GHO HRAWES T AR SHel] AR, W G FHqd IRAWH S 30 W @,
wisrlrea foedt whr femdier 2
1 0 2 1
3 1 : 4 12
A cat is sitting in between two plane mirrors. If the angle between two plane mirrors
is 30 degrees, how many images of the cat will appear ?
1) o 2 1
@ 1 4 12
42. GEHAYH BV HRE TTEIH W Fgea i F@ ?
(1) i (2) WEIEHARA
(3) ¥hrmfa | (4) STeRfw e
Which of the following plant hormone is responsible for senescence ?
(1) Auxin (2) Cytokinin
(3) Ethylene (4) Abscisic Acid
43. ST T UEU AEUTA GrEifhe = WIS, SiedtEn U A JEHOE SEiheren T

TR T A, T e ufdedn F1 e ad @t giaifeaa Seamn o wiom swa ?
(1) i (2) =
(3) < anfor qrew 3= fuysm 4) o anf fesr 3= oo

What will be the eye colour of all female individuals in F1 generation when a white
eyed female Drosophila is crossed with a red eyed male Drosophila ?

(1) White (2 Red
(3) Mixture of Red & White (4) Mixture of Red & Blue

O] HETATS! ST / SPACE FOR ROUGH WORK
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R Teliets Soen i ¥R qoewigr feeen JwE ?
(a) RN MHRA F= T 0
(b) TR WEgF® 3dg (RNA) I 3 w9eie
(¢) RNAW] wofiq (W) mawne sesifea smaol
(d) UeY Uit (areadt 9eft) wRfim o

it IaY

(1) (a),d),d (2)  (a), (), (c)

3) (a),(c), (@) 4) ), (), (@

Viroids are identified on the basis of which of the following three characteristic
features ?

(a) Much smaller in size than viruses

(b) Consist of circular RNA molecule

(¢) RNA molecule covered by protein coat

(d) Infect the plant cells

Answer Options:

1) (a),(b), (d) ' (2) (a), (), (c)
3) (a), (e), (@) 4) (b)), (c), (d)

45. GEER HR 9gd AR Tew Rd ?
(a) T M T TG

(b) il AT § Foore vgd
(c) TEHEfR® @Y

@ =

il 39y &

(1) % (c) 3 (@) | (2) e (a) AT (b)

(3 (a), (b), (c) HIF (Q) @) (@), (b), (c) A1fr (@) by e

Which of the following substances are components of soil ?

(a) Stones and sand

(b) Fine soil and decomposed matter

(¢) Chemical substances

(d) Colour substances (Dyes)

Answer Options :

(1) Only (c) and (@) (2) Only (a) and (b)

(3) (a), (b), (c) and (d) (4) None of (a), (b), (c) and (d)
FEEYT PTTHTS! R / SPACE FOR ROUGH WORK _ P.T.O.
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46-

22 A
yrofarfiemarst Eeitatht wiord s e w2
(1) IS - AMd > AX - T > FS > 99 - gh
(2) g - I\ - AR - Wt > qI - T > F>
(3) W@ - WEH o T o T - AR > Fz - o

(4) A >8I 5 T - JAH > TS > Td - Tt

Which steps of taxons are followed for classification of animals ?

(1) Species —» Genus — Order —» Class — Family - Phylum — Kingdom
(2) Kingdom — Genus — Order —» Species » Phylum — Class » Family
(3) | Genus — Species —» Phylum -» Class —» Order —» Family —» Kingdom
(4) Kingdom —» Phylum — Class —» Order —» Family —» Genus — Species

417.

whaeen & P @ fame 9 @d e @eaE 9 FEiE a9 IR, Y AfEYw g
HAIF UTH THEASHE T[aeer ATATd SN Wiehiel AT gsdrd :

(a) STGeRAT

(b) o

(¢c) diwul T

(@) It yarE

Florieh! v /e stet amga 2

(1) e (a) | @) w (a) 3TN (b)

(3) (a), (b), (¢) aTivT (d) (4) (a), (b)-3ivr (d)

Ecosystem is a self-regulatory and self-sustained structural and functional unit of
nature where biotic and abiotic components are linked together with the following
processes :

(a) Productivity

(b) Decomposition

(¢) Nutrient cycling

(d) Energy flow

Which of the statements given above is/are correct ?

() Only (a) ~ (2) Only(a)and (b
(3) (a), (b), (c) and (d) 4) (a), (b) and (d)

FreET HETEIS! ST / SPACE FOR ROUGH WORK
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48,  Fregh i sin-andt ioh o Ageler aEeTeE Te) ST, 6 o WHGh W,
() o= gdie wmen SEEEEREEE T ATE T SEHEReEEEE .
(¢) Toegghem write arrgE At snftt stEsd & Wk wEad.
@ wWAwE., Ruwwm, d.Re o sERmraeede oy aaad.
- ghalh Hor faum/faam s o /T 2
() (a), () 3N (d) (2) W (a) 71 (¢)
(3) wad (d) . (4) %= (b) 3f (d) .
Pituitary gland is endocrine gland connected to hypothalamus at the base of the
brain. It secretes many hormones.
(a) It is called as master endocrine gland.
(b) Its anterior part is neurohypophysis and posterior is adenohypophysis.
(¢) Oxytocin and Vasopressin are secreted by posterior pituitary.
(d) STH, TSH, ACTH are secreted by adenohypophysis.
Which of the statements given above is/are correct ?
(1) (&), () and (d) (2) Only(a)and (¢
(3) Only(d) (4) Only (b) and (d)
49, ST YEHICSATATSAT HUAT SHIGUAH Wieliddhl Fvrer Ifpdg wiis ofdie wwid
el afdTs ool B9 2
(1) Tewmeiaderm ) fegmgiiam
3) fezmgm 4) TEST
During Krebs cycle in respiration, fumaric acid gets converted into malic acid by
(1) decarboxylation (2) dehydrogenation
(3) dehydration | (4) hydration
50. To=mred e U O] &1 kAT a0 SO T4 ST 2.
(1) "= (2) Ig-9EE
(8) dJgvHHE (4) ATHN Fat
In a diamond, each carbon atom is surrounded by other carbon atoms.
(1) linearly (2) tetrahedrally
(3) tetragonally (4) octahedrally
51. fedrm=n sopea AR,
(1) 03 ‘ (2) 04 (3) 02 4 01
An atomic number of Tritium is .
) 03 (2) 04 3 02 4 01

Fee1 FTAATS! ST / SPACE FOR ROUGH WORK P.T.O.
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52. g TS WG ST CEYT gl gHR 70% ST 3.
(1) wafeem (2) #EfERR
(3) auAfERR 4) DNEER
The ' part of the Earth’s atmosphere contains about 70% of the total air in
~ the atmosphere.
(1) Stratosphere (2) Mesosphere
(3) Thermosphere (4) Troposphere
53. ﬁﬁwma@ﬁasﬁaﬁmsﬁm 327. fagam A - fagea W (fas. - fas);
dfgg M - It AR (FJ. - 4.9.) T fgw GG - @fw I R@SL - 99)
SR ort = B .
(1) A -/ <R/ -F5 <3 -4
2 A -fAs >fRAR -5 >4/ -9,
(3 9. -9 <faS - AR <GS -I.
4 RS -3 >aH. -95 > e - e
The electrostatic repulsion between electron pairs such as lone pair — lone pair
{(1.p. — Lp.), bond pair — bond pair (b.p. — b.p.) and lone pair — bond pair (I.p. — b.p.) in
a given valence shell decreases in the order of
(1) Lp.-lp.<lp.—-b.p.<b.p.-b.p.
(2) lp.-lp.>Llp. —bp.>b.p.-b.p.
(3 bp.-bp <lp.-Lp <lp.~b.p.
(4) Lp.-b.p.>bp.—bp. >Llp. -1lp.
54. AT WA T 19 I,
H=1C=12,0=16,1=127]
(1) 250 U1 LA FHiew (2) 227N FET TENFEES
(3) 457w wroft (4) 1079 gEgE 9y
The maximum number of molecules are present in
H=1,C=12,0=16,1=127] :
(1) 250 g of iodine crystals (2) 22 g of carbon dioxide
(8) 45 gofwater (4) 10 g of hydrogen gas
56. V,07* wed Vi s Rt d _ am.
(1) +5 (2) -5 3 +4 4 +10
The oxidation state of V in Vo 07* is .
(1) +5 2 -5 3 +4 -4 +10

FEET PRTAIS! SIFTT / SPACE FOR ROUGH WORK
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56. “TGdN WrANEES fmim wwae aelew TSUHedn Wiy awidl gEEY 0 3 UE
TRl dfires R, € T dEIE WEAH! . 5E e S el 39, @ Qe
FAEIY0 9TR & TSR A8 e A1 el el FEl |re. @mEn 9 HeaE o
Taed ARTGIEHIT e el Ao ATé; g Fasvhear aet Aagr Fiveaeer 3ot o
A" 378 Wiefiaasht Hivft et AR ?

(1) vEid AT TEE @ ¥ e

(3) . #am. TEEE (4) H.m, gt

“Directive Principles is a novel feature in a constitution framed for parliamentary
democracy. They have no binding force. But whoever captures power will not be free
to do what he likes with it. He will have to respect the Directive Principles. He
cannot ignore them. He may not have to answer for their breach in a court of law,
but he will certainly have to answer for them before the electorate at election time.”
Who said this ? ‘

(1) Pandit Jawaharlal Nehru (2) B.N.Rao

(3) Dr. B.R. Ambedkar (4) K.M. Munshi

57. wWared EFs T HEET qRerEETEa Grete faum e e

(@) < Tpud ool srwld e YR TEdw.

(b) ¥ T AT ARTHIEAS S04 BT, |

(¢) o JeIEY FOATgE] RATSAT T ey Jed <R iReaT ufSrda I uam.

(d) W HRQTEAT FEFE ARTEH hAcdl Hhei-aed T TFI TgaEd g & TehdTd.

Fhedh HivR faum /faum stet sma 2

(1) % (a) (2) %= (b) (3) W (a) I (c) (4) W (b) T (d)

Consider the following statements about the Comptroller and Auditor General of

" India :

(a) He holds office during the pleasure of the President.

{b) He draws the same salary as a Supreme Court Judge.

(c) Before entering upon his office, he swears an oath or affirmation before the
Chief Justice of India. ,

(d) He may be removed by the President only after an enquiry by the Supreme
Court of India.

Which of the statements given above is/are correct ? :

(1) Only(a) (2) Only(b) (3) Only(a)and (¢)(4) Only (b) and (d)

58.  wreliatdt T Tfien e yiden steas g ? \

(1) <& RS (2) <. qptm sreamft

(8) ST = migh firdy (4) Tawr grefameht

Whe among the following was the first Chairperson of the National Commission for
- Women ?

(1) Jayanti Patnaik (2) Dr. Poornima Advani

(3) Dr. V. Mohini Giri (4) Vibha Parthasarthy

AT HTHTHIS! SIAN / SPACE FOR ROUGH WORK P.T.O.
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59. RN TSIUAA SR HemEeR, Rumas au ST 3U9 §99 S 39w, © RuE
uftye T o fohat T HvaTET At qEew feten W 7
(1) 37=3¢ 168 (2) = 167
(3) IT=R< 166 ' (4) =< 169
Which Article of the Indian Constitution empowers the Parliament of India to create
or abolish Legislative Councils, if the Legislative Assembly of the State passes a
resolution to that effect ?
(1) Article 168 (2) Article 167
(3) Article 166 . (4) Article 169
60. URAR ULT TSTUEATAT HI JTTREEIA HAGJHR WAt ARTAATheT Gl WA,
IEhATd ?
(1) S7=sg 142 (2) I 145
(3) = 147 (4) oge=og 143
According to the provision of which Article of the Constitution can the President of
India ask for advice from the Supreme Court ?
(1) Article 142 (2) Article 145
(3) Article 147 (4) Article 143
6l. 44 geagERt arfufram 1978 gR Erelieieht T e Fvard ST Ted ?

(a) oifge witdim =nfies a1 Fwfv swaEmea awg Hoaa e,

(b) TihwseR e ug tHa [iiare wa mevarat uphde SR i s,

(c) UghH amvfiEmiien w@E Jgeog 20 N sg=ee 21 =3 g feod qevm sfter
(d) TsagEde g fowa guadt g safavam o

gIid I ;
(1) (a), (b) 30T (¢) (2) (a), (b) 3007 (d)
(3) wad (c) 31T (d) (4) & (b) 30T (¢)

Which of the following provisions were made by the 44th Amendment Act of 1978 ?

(a) Provided for the creation of the All India Judicial Service.

(b) Empowered the President to send back once, the advice of the Cabinet for
reconsideration.

(¢) Provided that the Fundamental Rights guaranteed by Article 20 and Article 21
cannot be suspended during the National Emergency.

(d) Shifted five subjects from the State list to the Concurrent list.

Answer Options :
(1) (a), (b) and (c) (2) (a), (b)and (d)
(3) Only(c)and (d) (4) Only (b) and (c)

FHezdT HIERITS! AT / SPACE FOR ROUGH WORK



A 27 H15
62. Gefelidl Hvren afie) Feden Qi avnEren SRafidier quEy s ?
(a) Y ST T YR ST Jr wedmnEd! aftd)
(b) nfgen Geei wfid
(c) T IR Al
(@) R wfd
(e) 3 Wi
it I :
@ (), b) 3R (@ (2 % (b) AN
(3) (c), (d) 0T (e) (4) SH (a) AN (D)
Which of the following committees contains representatives of both the Houses of the |
Parliament ? ‘
(a) Committee on Welfare of Scheduled Castes and Scheduled Tribes
(b) Committee on Empowerment of Women
(¢) Business Advisory Committee
(d) Committee on Privileges
(e) Estimates Committee
Answer Options : . ‘
1) (a), (b) and (d) (2} Only (b) and (¢)
3) (c),(d) and (e) (4) Only (a) and (b)
63. ¥ sEghua Irh (Ta.H).) TR ToaHeTsa Hvedl FAUTAR TATGH FAA ATEAT 3R 2
(1) haw 337 (2) “he™ 338
(3) HeH 336 (4) o 335
- The National Commission for Scheduled Castes (8C) is constituted by which Article
of the Constitution ?
(1) Article 337 (2) Article 338
(3) Article 336 (4) Article 335 7
64. 13 fe8=x, 1946 Tsh Tt WA wen afirde Idieren sta wise.
(1) Yo FuE (2) WO g
(3) . W FER (4) UER FEEEE TEE ,
On 13" December, 1946 moved the Objective Resolution in the
Constituent Assembly of India.
(1) Sucheta Kripalani (2) Sarojini Naidu
(3) Dr. Rajendra Prasad - (4) Pandit Jawaharlal Nehru

T TS SN / SPACE FOR ROUGH WORK ™ : PT.O.
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65. wrea fagm foama @i
(a) farfis @eoae® (Departmental proceedings) HWCAEl Weed™ HATE =afrd
THE IR THNET S der It He wom et T v it Jesr fen

feft Stmome v,
(b) TFa:fawg W& T (self-incrimination) 0 sEdR TV ¥ AL Y FERGS T AT
A Tl AR IR |
(c) waa:fawg A1y 1 o1 e TR Biwert nftr feawft srn Q-Eidt @ecansd @ oM.
i I
(1) fum (a) st (2) Tum™ (b) SO
(3) faur (a) it (b) st (4) Taum (a) anfir () T

Consider the following statements :

(a) No person shall be prosecuted and punished for the same offence more than @
once, including any departmental proceedings.

(b) The protection against self-incrimination extends to both oral evidence and
documentary evidence. ‘

() The protection against self-incrimination extends to both criminal and civil
proceedings.

Answer Options:

(1) Statement (a) is correct (2) Statement (b) is correct

(3) Statements (a) and (b) are correct (4) Statements (a) and (c) are correct

66. arclia faur foawm veA, @ vafy feer
(a) TSUERAH 3<% 371 (A) HEd APTEieard! iy aige} Fvam STmies oTR. _
(b) wwEm offE ot Gmnie WuieW aEdd GRS HIEEl HEEW A6
forareiren aradfia™ am war 39 .
(¢) YT g Aeiendie aifus fwfoa few om.
quidt IW : o |
(1) faum (a) anfir (b) SO mRa (2) %o M (a) SR AR
(3) faum (a) fvr () SRR amEa (4) qd faum SO ImRd

Consider the following statements and choose the correct option :
(a) The special provisions for Nagaland are made in Article 371 (A).

(b) No act of the Parliament in respect to the religious or social practices of Nagas
can be applied without the approval of the Legislative Assembly of Nagaland.

(¢) Tuensang is the most developed district of Nagaland.

Answer Options :

(1) Statements (a) and (b) are correct (2) Only statement (a) is correct
(3) Statements (a) and (c) are correct (4) All the statements are correct

Fo] HHTAG! ST / SPACE FOR ROUGH WORK
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refiadeh! HIUG WRATea1 TG YRone usie o 7787 ?

(1) undwreT TR e T GreameETEn et TEw

(2) 9t Jiaa Rl sy F S

(3) wiqaqUl HEeTfET

(4) R T

Which of the following is not a Panchsheel principle of India’s forelgn policy ?
(1) Mutual respect for each other’s territorial integrity and sovereignty

(2) Mutual non-interference

(3) Peaceful coexistence

(4) None of the above

el faum femra v 9 ity fas

(a) 2011 @t 97 31 HEGeEAER ‘asmawfmﬁwwaaﬁawﬁzmmm

(b) FIBZ 19(1)(c) WEA ‘TEhill TFAT TAGA FAVAH1 AUHR TEA FVAT HATAT.

(c) e g Frem Frfedia TRadier afeen TEwl FrR1 T Hen e,

gt 3wt

(1) (a) 3R (c) FU= 18a @ (b) 3PN (¢) TR A

(3) (a) M (b) e 3Rq (4) foft fawm st enda

Consider the following statements and choose the correct option :

(a) The subject, ‘Co-operative Societies’ has been included in the Constitution of
. India by the 97th Amendment in 2011.

(b) The right to establish ‘Co-operative Societies’ is given in Article 19(1)c).

(¢) The first law related to Co-operative Societies in India was passed in the tenure
of Lord Curzon.

Answer Options:

(1) <(a)and (c) are correct (2) (b) and (c) are correct

(3) (a)and (b) are correct (4} All the three statements are correct

69.

TS JAYal Usg qIed1 a0 Wielid Al UgEt $d TEUTl il Sedh U,

TgrEE g F0 AT verEa ROl (AIgeag 311) aned @idletd R Rum gee o 2

(1) +1T<og 311 Gich TTA TTET § Thlt Baehict =it Iuerey =,

(2) =R 311 Wl JuSew wawrE rgfdnr AEWEes, 9@ onfr Aufife any wEWHEer
(LIC, ONGC) gt duifis ngesrdiel wiarl o Aida. :

(3) TR 311 e awd M Faw TR (FTEW) AE FHAANE GR ndd, e

" (Temporary) FH=E=H AEE.

(4) mﬁnmﬁﬁ%@ﬁmw%mtﬁ HYE1 ITEEA U FUE THd T Agseg 311
i wrgumren =t 79 feisan TaEy g .

Which one of the following statements about dismissal or removal of persons

employed in civil capacities under the Union or State (Article 311) is not correct ?

(1)" Protection under Article 311 is not available to military personnel.

(2) The employees of statutory corporations such as the LIC, ONGC are not
entitled to the protection of Article 311.

(3) The provisions of Article 311 are applicable to permanent civil servants only
and not to temporary servants.

(4) Suspension of government servant from service is neither dismissal nor
removal and is not within the scope of protection of Article 311.
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70.

- 30 A

wrefie faem feamm e
(a) E'Tﬂﬁ%ﬂl W= e (panel of Chairpersons) FHag dlisam e ageqmys

) ﬁ@r«ﬁwﬁw e NYF IV ¢ ek A Vg1 Arepavea WG TR
UG F AT Y Wl

(c) oA, mm@mﬁwmmaﬁﬁmmﬁ?ﬁauwﬁaﬁﬁw
FACHT GGEITER LA FHdsd IR IS Srar.

i@t For e/ faym steg smg/amea 2

(1) & (a) (2) % (b) (3) (a)af @ (4) TR ot T

Consider the following statements :

(a) A panel of Chairpersons is elected by the Lok Sabha from amongst its
members.

(b) A member of the panel of Chairpersons can premde over the Lok Sabha when
the office of the Speaker or the Deputy Speaker is vacant.

{¢) In absence of the Speaker, the Deputy Speaker and member of the panel of
Chairpersons, the Speaker’s duties are to be performed by a member appointed
by the President.

Which of the statements given above is/are correct ? :

(1) Only(a) (2) Only (b) (3) (a)and(c) (4) None of the above

71.

arelie oy feame 99 9 walg faer

(a) fsrfira 2014 vda o a1 Sur=n o g

(b) 2014 7 e HrlwmT T@ e,

(c) T AN HEEAG 30 JWIET HEHIT AR,

i I

(1) (a) 3l (b) WO (2) & (c) TN

(3) (a), (b) R (c) fordt =0T (4) (a) anfir (c) T=
Choose the appropriate option among the following statements :
(a) Crimea was a part of Ukraine till 2014.

(b) Russia annexed Crimea in 2014.

(c) NATO consists of 30 member countries.

Answer Options :

(1) (a)and (b) are correct (2) Only(c)is correct
(3) (a), (b) and (c) are correct (4) (a) and (c) are correct

72,

ER G o Cl T nﬁmm&mwwﬁaﬂwa@wmﬁﬁgﬁm
et amg ?

1) wHim#A (@ FARH. 0 @ FhwH (4) FRTEITIA.
Former JNU Vice Chancellor Mamidala Jagadesh Kumar has been appointed as the
Chairperson of which institution ?

(1) NCERT (2) UGC (3) UPSC (4) ISRO

et HRTHIE} IR / SPACE FOR ROUGH WORK
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78. TN A AGWEN T Wit ‘T wET AT g R, 2021 et @i St fag

et ? ‘
(1) AT JgHITE (2) T
(3) A TS | (4) e FE

Who amongst the following was chosen as the ‘Time Person of the Year, 2021’ by the
Internationally acclaimed magazine — Time ?

(1) Malala Yousafzai (2) Ratan Tata

(3)

Elon Musk (4) Kamala Harris

74. AT 2022 WA 3R, TEET IR Py 9. @ e g el g ?

(1) R (2) YU

(3) Pt @ fem

R. Nagaswamy died in January 2022. He was related to the field of
(1) Environment (2) Archaeology

(3) Painting (4) Acting

75. IO 29T BRA-12 e Yeoursa HfSE ATOTET Ya9r 39 9

(1)
3

(1)
(3’

== (2) 9™
IW HifEr (4) gfEmr Hifan
Which country launched the Hwasong-12 mid-range ballistic missile ?
China (2) Japan
North Korea (4) South Korea -

76. T weifawh g RuammmE sgie faum Wi s

(1)
(2)
3
4)

(1)
(2)

(3)

4)

TUFAHS Fald T UG AEEih! ¥ 3R,
feafar wdaniiadt 3ot saed 3R SrEsT M YHTUTEE oTR.
7 Y R T9AT 11 347 Va9 SRR, IR I e Teed 9.

T unid faveT anivgm FE a9 Wil . W@WWW
rerdiat gt B9 .

Find out the incorrect statement from the fbllowing about the Yazidi group.

It is one of Iraq’s oldest minorities. :
They are concentrated in northern Iraq around Mount Sinjar.

This ancient religion is rumoufed to have been founded in 11 century by
Umayyad Shaikh.

This religion has taken some elements from Christianity so.they are targeted
by Islamic terrorist groups.
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77. 2022 - 23 = Hgg AEHAT FowR feien farmm o T fedh @ W=
ST Ao et oy ?
(1) 20% 3 ARw vt (9)
(2) 25% F Afw Ivwt (B)
(3) 30% X 3Nfirk Iya (89)
(4) 35% T Afts U (39) .
How much tax would be imposed on Cryptocurrency, as declared by the Central
Finance Minister, Nirmala Sitharaman in the Budget 2022 - 23 ?
(1) 20% tax plus cess
(2) 25% tax plus cess
(3) 30% tax plus cess
(4) 35% tax plus cess
78.  HIvear FEM gEed 9 2022 AEd wered A ntfaan de fiew ot et 2
g e (2) BFE IHH
(3) daed wiew , , (4) qe§ e
Which racing driver won the Saudi Arabian Grand Prix Tournament held in March
2022 ? .
(1} Charles Leclerc (2) Max Verstappen
(3) Valtteri Bottas (4) Lewis Hamilton
79. goEmn & foft ydiedd wR fum st o 2

(a) 91 AR HRARS “Aige™ WS HY FEU.

“(b) 9 I AW T G A e

(e) Wmmmmﬁmmmaﬁm

it I

(1) s (a) (2) 13I-T«=|?r‘(b)

(3) wE (c) (4) i T

Which of the following statements is incorrect about Pulwama ?

{a) It is known as the Rice Bowl of Kashmir. ‘

(b) Veshu and Jhelum rivers are flowing from Pulwama.

(¢) Aharbal Falls and Avantishwar Temple are famous tourist places near

Pulwama.
Answer Options: =
(1) Only(a) (2) Only(b)
(3) Only (c) ' (4) None of the above

e HHIRATEL SR / SPACE FOR ROUGH woRK
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80. Iy vy Faa. |

(2) Prfier enfor s fRaim digk @9 wRar 2022 7w R gued Fua Ak,

(b) A offefefir, 2012 Wed Reafia TieR T Freave fef 2.

(c) %ﬁ?ﬁﬁ%ﬂ@w@%

it I :
(1) FE (@) R (2) (a) 30N (b) T
(3) (a) 3 (c) TN (4) Tt e sl smea

Choose the correct option,

(a) Deon Lendore of Trinidad and Tobago died in a car accident in January 2022.
(b} He won a Bronze medal in the London Olympics, 2012.

(¢) Deon Lendore was a Chess Player.

Answer Options :
(1) Only (a) is correct (2) (a)and (b) are correct
(3) (a)and (c) are correct (4) All the three statements are correct

81. VA TTH wicligs AMAA 99 S @ AU FAU wEdt AURTEE §e e wuH

FREZ Fel A8 ?
1) Fufesa (2) wofigg
(3) M (4) ®IES YeI

Which State has signed Bollywood actor Sanjay Dutt as the Brand Ambassador for
its Golden Jubilee celebrations ? '
(1) Sikkim (2) Manipur

(3) Assam (4) Arunachal Pradesh

82.  Eiordeht Wy TEEHT=AT FHiviear Feiea wee fasa TareRsh 100 9§ gof Feht sRa 2
(1) AaWgE 59 gue (ILO)
(2) 7 anfor Heft WEE (FAO)
(3) <Imfas R "aeA (WHO)
(4) FaCER T g (UPU)
Which of the following UN speclahzed agencies has completed 100 years of its
formation ?
(1) International Labour Organization (ILO)
(2) Food and Agriculture Organization (FAO)
(3) World Health Organisation (WHOQO)
(4) Universal Postal Union (UPU)

IFeegT HHTAIS! ST / SPACE FOR ROUGH WORK P.T.O.
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83. Writa UM T&@ 934 9 @iy faer -
(a) v qERR WTH e | g S Seemed e .

(b) mwmﬁﬁﬂmﬁmaaﬁﬁwﬁm@‘ﬁam’wﬁlmwﬁ
B,

(c) YIRG GBI AT 2019 95 qisf G =& el B,

it IW ; ,

(1) (a) anftr (b) S 3mRA (2) W (c) T AR
(3) (a), (b) 2fr (¢) ferdt s aRa (4) (a) anfo1 (c) T amEd

Consider the following statements and choose the appropriate option :
(a) Padma Shri Awardee Milena Salvini was born in Italy.

(b) She was a famous Kathakali dancer and had established a dance school named
‘Centre Mandapa’ in Paris.

(c) 'The Indian Government honoured her with Padma Shri Award in 2019,

Answer Options:
(1) (a) and (b) are correct (2) Only (c¢) is correct
(3) (a), (b) and (c) are correct - (4) (a)and (c) are correct

84, RfemETe feRTAiE Tvum FEte sl afgelt e I Hivr ?
(1) mEH (2) wa.sftem.
(3) . ‘ (4) drwash.
Which bank has became the first Indian Bank to have an office in Australia’s
Victoria State ? W
(1) Dena Bank | (2) SBI
(3) BOB (4) PNB

85, Wg < GiRAeN wem 377 WA IS S fIvarEn 3gE g ?

(1) wER s (2) wHARHT

(3) =FER (4) T

Section 377 of the Indian Penal Code (IPC) is related with which of the following
subjects ?

(1) Temple entry _ (2) Homosexuality

(3) Adultery (4) Surrogacy
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86, TN Ul ‘i e L@ dvew FAw i vy Al Sieggaa JAad! Ml
AigwamaTe! WIE@h! ot FueAT HrRid gt ?
(1) e aw (2) T=F |
3y Fawa e (4) GOgeBTift T
Before the formation of ‘All India States Peoples’ Congress’ at the national level,
which of the following organizations was active in Kolhapur to raise the concerns of
the people ?
(1) Lok Sabha (2) Rajya Sabha
(3) Vidhan Sabha (4) Paropakarini Sabha
87. Eieh! fasiie At sfe ¢
(1) . () =t fedm (2) gumaE R
(3) |M TR 4) fea st
Pick out the odd person from the following :
(1) Dr. (Mrs.) Laura D’Souza (2) Sudhatai Joshi
(3) Sane Guruji (4) Hirve Guruji
88. 1957 =41 Shifterr fawas UsT st svemen S gien ?
(1) oars A (2) iarar gef
(3) g e (4) gataré wirEw
Who was the president of the 1957 National Commission for Female Education ?
(1) Anutai Wagh (2) Shantabai Dani
(3} Durgabai Deshmukh (4) Durgabai Bhagwat
89. = SR NTHUEA UG A B FAFAR FGS TUEE T 8 2
(a) IR, vWeR (b) TS WIS
(c) TR ¥qad (d) TERS TN
Tt I
(1) w%=d(a), (c), (d) (2) %ad (a), (b), ()
(3) = (a), (b), (d) (4) (a), (b),{c), (d)

After passing away of Dr. Babasaheb Ambedkar, who from the followers of
Dr. Ambedkar, became members of the Congress ?

(a) R.D. Bhandare (b) Rajabhau Bhole

(c) Dadasaheb Rupwate (d) Bapusaheb Rajbhoj
Answer Options :

(1) Only (a), (c), (d) ' (2) Only (a), (b), (c)

(3) Only (a), (b), (d) (4) (a), (b), (c), (d)
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90. T T=) Wiehet Hran AR fwmht frfvien wew farea Yar g ?
(1) ®. Frach sers 2/ 3 gem@ (2) 9 IR T TR
(3) = ff 05 3 ag=m (4) vI9A T FEIB
Which of the following two places in Mumbai had Salt Markets during the British
time ? .
(1) C.S.M.T. and Wadala (2) Bhendi Bazar and Wadala
(3) Charni Road and Wadala (4) Panvel and Wadala
91. g@ A% oHe v Tt anfor Yada yorEw wee Wil T Feft Bl 2
(1) AW IIgTT TEEH
(2) <R YiglT W@
(3) T. M. WS
(4) . A dEm
Who had established the Manav Dharma Sabha at Surat and Paramahansa Mandali
at Bombay ?
(1) Atmaram Pandurang Tarkhadkar
(2) Dadoba Pandurang Tarkhadkar
(3) R.G. Bhandarkar
(4) K.T. Telang
92, I WAl faf quvfican wifd srden AFfd-3-fo w Uy wioft Rwdien 2
(1) wewg el (2) orfeas
(3) T =g (4) =g T
Who wrote the book called Tahqig-i-Hind, which gives a detailed description of
North India ?
(1) Mahmud Ghazni (2) Al-Biruni
(3) Ibn Battuta (4) Abdul Razzak
93,  TRYM TEY NeAwH ) GeHd) GO W3 fawm wivR 2

(1) =FR (2) TR

(3) WS (4) <o
Which of the following is a large Mesolithic site in Rajasthan ?
(1) Bagor (2) Adamgarh

(3) Pratapgarh ' (4) Chopni-Mando

oET HTIATS! AT / SPACE FOR ROUGH WORK
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94, JiSwr @El
AR T
(a) hmfl G fafmr
(b) wEA (i) @
(¢ ®m Gi) I
@ =™ (v) SR
it I
(a) (b) (© (d)
(1) (i) (i) iv) (ii)
(2) (i (iv) (i) (iii)
3 @ (iii) (iv) (i1)
4) (Gv) (iii) (1) 1)
Match the following :
| Mahajanapada King
(a) Kashi o (i) Bimbisara
(b) Kosal (i) Ashwasena
(¢) Magadha ' (iii) Udayan
(d) Vatsa (iv) Prasenjit
Answer options: |
(a) (b) (¢) (d)
(1) (i) i) (iv) (ii)
(2) (i) @iv) (1 . (i)
3) @) (iii) (iv) (i1)
4 Gv) Gi) @i @
95. fa.u. R giem Fmrh i U9 T2ig TR 1932-33 Tl HIvET [EHR 37 TRa Hal ?

(1) TR JEHR (2) e fim

(3) afra et (4) U= QRS

By which reward was V.R. Shinde felicitated in 1932-33 by the State of Baroda ?
(1) Samajik Puraskar (2) Dalit Mitra

(3) Dalit Sathi (4) Rao Saheb
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96. MWWWHWWWWWMEW

HEW S Bt ?
(1) W™ (2) @7
(3) = ¥y (4) AR

How much fine was charged each month by Chhatrapati Shahu Maharaj from the
parents who did not send their children to school ?

(1) Two paise (2) Three paise
(3) Five paise (4) Ten paise

97.  189R, 1947 Ush farfem wifelarizy srorean srramen wren feef 2
(a) WRAT Freft HEE
(b) YT T SR
(c) | "ggl HEQl
(d) GEATgRRI HRIE
et Hive faam/faue Stet oT/eTEa ?
(1) % (a) 0 (c)
(2) % (a) 207 (d)
(3) wF (a)
(4) % (b)
Whlch Act was sanctioned by British Parliament on 18t July, 1947 ?
(a) Indian Partition Act
(b) Indian Independence Act
(c) Draft Constitution Act
(d) Constitutional Amendment Act
Which of the statement/s given above is/are correct ?
(1) Only (a) and (c)
(2) Only(a)and (d)
(3) Only(a)
(4) Only (b)
FEeqT HHTEIST ST / SPACE FOR ROUGH WORK
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98. WRAW SRR NG AN FER WA a1 AEN Fifwrwi fEgeam g Rufswst
IS AT Y Hid T ¥l ?
(a) HT (b) HAPTE . () P (d) et
it 3w ; ' _ |
(1) & (a) AT (b) (2) W (c) AT (d)
(3) % (a) _ (4) % (d)
Where was the Hindustan Socialist Republican Association established by
revolutionarieg like Chandrashekher Azad and Sardar Bhagat Singh ?
(a) Mumbai (b) Nagpur (c) Kolkata (d) Delhi
Answer Options : ' '
(1) Only (a) and (b) (2) Only(c)and (d)
(3) Only (a) 4) Only@
99, 1757 A WIS HeRE TN TR BT HivT W=l Fare g HIw et ?
(1) W™ 2) sTE (3) fm (4) i
The British appointed Mir Jafar as the Nawab of | after the Battle of
Plassey in 1757. 7
(1) Madras (2) Bengal (3) Bihar (4) Orissa
100. 9. 12061 1290 I HB[ T Hoied TeH TV TG Hivl Helt ? {
(a) TEHg e | '
(b) TEwG W o "-.1‘
(©) PILEH W&F
(d) Fogafest 7
et R fram/faras st oma 2 _
(1) & (a) 31 () (2) e (b) AN (d)
3) % (a) 4) ®H©

Who founded the Slave Dynasty which ruled from 1206 to 1290 ?
(a) Mahmud Ghazni :

(b) Muhammad Ghori

(¢) Qutb-ud-Din Aibak

(d) Tltutmish

Which of the statement/s given above is/are correct ?

(1) Only(a)and (c) (2) Only(b) and (d)
(3) Only(a) (4) Only(c)
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(8) ywyfrened fafga s fafire arfle = =W (@ %) =R, vt saufiide a1 @
FTGTEE F FH Hedrd d Hidt FOITT A Fo AR, I TR A 9 WHIAR IATRET AET
T e ‘wligired g R ey woameEes afufee-82" adie agdiqen e
mﬁaaﬁaﬁmma@waﬁr/ﬁm@wmmmﬁ%
I . :
(9) VR FeuiHFRES AETH fafda SOl I FoAHR IEATIE § TEYRE WAt TOERETETat
U I WEEft o, Wi ulienegnant Wuargdl SHEaR SIaEd Swafrder Wn-1
| FHagERTERS T e wa w3 sravew o,

oigslT HRsT
Y. 3. 201. S 96 A8 FEEE! Hivlt TEa: T w2 -
(1) @l e aeEd (2) svaCeg fremErR
(3) T THETEA TE (4) TUTSF TiE

W TEN A I (3) T THAEA TS I MR, S T YN S (Q) B, IRad
GISHAT 99 3. 201 GEe s (@) R ade e srifEd F grEfa sravah
AR \

¥. %. 201. @ @ @ @

I UgdR g TRl Y® YRl qEEl ST 81 gRlen aadear [heeen
HE HTAT WTER T AT, Ui &1 wrdw 99 auE 1,
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